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Figure 2: QCD model for the leading—twist DA of the A, baryon defined in Eq. (38) at the scale
of 1 GeV (solid curve) and after the evolution to p = 2.5 GeV (dash-dotted curve) as a function
of w = w) + wy for two values of the light quark momentum fraction v = 0.5 and u = 0.125. The
result of a single-step evolution to g = 2.5 GeV, which includes the ~ O(a;) correction only, is
shown by dashes for comparison.

Figure 3: The u dependence of the DA for fixed w = 0.5 GeV (near the peak in Figure 2) and
w = 1.0 GeV (crossing over to the tail region). The curves are as explained in Fig. 2. Note that
the effect of evolution to higher u is to decrease the DA for any w in the former case and increase
it in the latter.
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